Chapter 25, Task 25.1: Analysing NILT. Producing Contingency tables
In this task you will use the NILT06teach data set to examine the employment status of men and women who responded to the survey. 
Before progressing any further open the NILT06teach data file in IBM SPSS Statistics 19.

From the analysis undertaken in Task Box 23.1: Analysing NILT 1 you already know the proportion of men and women in the sample.

The next stage is to identify appropriate variables in the data set that would allow you to explore work status. There are two potential variables available:

· Work status [Work]

· Economic status of respondent [reconact]

Access the variable list (From the Utilities menu select Variables) to locate the variables and explore the categories used in each variable.
Both variables are categorical therefore produce a frequency table for each variable (see the earlier task box on page x if you cannot remember how to do this).

You now need to produce two separate contingency tables: 

1 Gender of respondent  × Work status

2 Gender of respondent × Economic status
Below we have provided a worked example for contingency table 1. Once you have completed this task you can use the same commands to produce contingency table 2.

In contingency table 1 the independent variable will be the gender of the respondent and the dependent variable will be work status. In our hypothesis we are looking to explore if men and women have different work status, hence the respondent’s sex is the independent variable as it is seen as influencing work status. If there is a difference in work status, what is it?

· From the Analyze menu, select Descriptives and Crosstabs.

· In the Crosstabs dialog box locate the variable Gender of Respondent [rsex], highlight and click on the arrow to move to the column box.

· Now scroll down to the bottom of the variable list to find the Work status [Work] variable. It is conveniently the second to last variable in the data file. Finding the Economic status of the respondent will not be so easy!

· Highlight and move this variable to the Row box.

· Click on the Cells button. Under Percent, click to place a tick in the box next to Column. Since the independent variable is in the column of the table, selecting column percentages will allow you to make comparisons between the categories in your independent variable (i.e. in this case comparing men to women). 

· Click on Continue.
· Click on Statistics. Under Nominal click to place a tick in the box next to Phi and Cramer’s V.

· Click on Continue.

· Place a tick in the box next to ‘Display clustered bar charts’.

· Click on OK to execute the command.
The results will be displayed in the IBM SPSS Statistics 19 Viewer window (see below).
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What can you concluded from these findings?

We can see that the majority of men and women are employees, 59% and 77% respectively (rounded to the nearest decimal point) and that women are more likely to be an employee. With 17% of men and 6% of women self-employed we can concluded that men are almost three times more likely to be self-employed than women. From the analysis of supervisor/foreperson and manager roles we can also see than men are more likely to be in these positions than women. There is a low association between these variables (Cramer’s V, 0.212). 
Contingency table (2). Using the procedures outlined above now analyze the differences in the economic status of men and women. If you undertake this task immediately after the above task you will need to click on the Reset button in the Crosstabs dialog box to remove the previous variables and settings before proceeding.

